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fi= (a) The point that is 9 units to the right of the y-axis and 4 units below the x-axis has the coordinates (x, y) = (

(b) Is the point (6, 7) closer to the x-axis or the y-axis? 7
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The point midway between (a, b) and (¢, d) is (x, y) = ( ) So the point midway between (3, 4) and (5, 6)
is (x, y) = ( ) (,_3 9 * (s5¢) m-‘APOin"
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Refer to the figure below.
oC Find the coordinates:
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Refer to the figure below.

Points in Quadrant I:

AB

7  Plot the given points in a coordinate plane.

(0, 6), (-8, 0), (-8, =9), (% %)

Select the points that lie in Quadrant 1. (Select all that apply.)
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This is a multiple-choice
question on WebAssign.

See 07.mp4
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Plot the given points in a coordinate plane.

8 (-1, 0), (3, 0), (2.8, —1.3), (=4.5, 5.5)
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Solution 2 .
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Sketch the region given by the set.
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10 Sketch the region given by the set.
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Sketch the region given by the set.
11 {(x,y) | x=z3andy < 4}

(Used in Linear Programming,
extensively.)

VAWV

X2

a%‘”_/___ _ )

I show 2 ways of shading a system of inequalities.

The 2nd way is the OPPOSITE of how it's taught,
Finding a Feasible Region with the advantage that the CLEAN part of your
graph is the "Good Stuft."
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13  Sketch the region given by the set.
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A pair of points is graphed.
(a) Find the distance between them.

y A= lx,5) = (0,5, B=(,00 ~—
A A, 3) -_\/(f,.,,\ garnd st
'ING VGoF o)
-= V bq +5
_\Aes = Vul
1t (b) Find the midpoint of the segment that joins them.
L E x M‘A?a;ﬂ“)’ oC -A_i
0 i (G ©) * -H'q.
) l4 -)-VL
s
= <";,-§,) = (?/'5«)
T.ay bud wined
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17 -
A pair of points is given.
(0, 6), (6, 14) M (o =E
(a) Plot the points in a coordinate plane. /
. ) L (o") ‘;A
(b) Find the distance between them. -
X

(c) Find the midpoint of the segment that joins them.
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In this exercise we find the area of a plane figure.

Plot the points A(2, 0), B(10, Q), C(9, 5), and D(3, 5) on a coordinate plane. Draw the segments AB, BC, CD, and DA.

What kind of quadrilateral is ABCD? TLP{PE%D \D

A= -‘:,(b.—"bb\ﬂ

What's its area? - L(8)(s) = L (wYs) = 7-(f>_) =3<

b= Besa Lomghh
h= |n47j“""
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In this exercise we use the Distance Formula.

Which of the points C(—-6, —1) or D(3, 0) is closer to the point £(-2, 1)?

20 O Point C is closer to point E. Y% quqﬂ,’Bl
2,1 quf"flal"%| v

O Point D is closer to point E. No

O Points C and D are the same distance from point E. No

2 ~ 2
d (c,e>: (-2- () + (1-¢0) 14_ \0
\f'-f +47 = ViLad = Vo \ﬁgs—.\f
= AT n \2f
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el lp,€) = (-8 $r1-0 =S+ = >

Find the area of the triangle shown in the figure.

Anva of triemyl is
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22 Refer to triangle ABC in the figure below.

" AAB) =

6
:‘/(_‘\"4- (Y f-m
al = (q"(\ - +\\1. /vlig
(4-(—03 + (Y ¢ =

2r t 1 T-‘-\' ;7’ -_-\F)_-(—?-? = S"F@
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=21
(a) Show that the triangle ABC is a right triangle by using the converse of the Pythagorean Theorem.

We must first find the length of all three sides of the triangle by finding the distance between the vertices.

Z o) ‘h-c onNuS
Therefore, the following conclusion can be reached. al\:e Q‘ j j

© Ssince [d(4, B)]? + [d(A, ©)]? = [d(8, C))?, triangle ABC is a right triangle. (:K;:Y‘ + (Vu—oY—: 0+ t0=50
© since [d(4, B)1? + [d(B, )12 = [d(A, C)]?, triangle ABC is a right triangle. - L\ﬁ-"o‘)"'

O Ssince [d(A, ©)]% + [d(B, C)12 = [d(A, B)]?, triangle ABC is a right triangle.
O Since all sides have the same length, triangle ABC is a right triangle.

O Since all sides have different lengths, triangle ABC is a right triangle.

(b) Find the area of triangle ABC. A= :‘b b W = ié@,d) (d (A(’Bﬁ

)
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= (ﬁ—\" ' (,a):-’
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23 In this exercise we use the Distance Formula.

Show that the points A(-3, 1), B(1, 9), and C(3, 13) are collinear by showing that d(A, B) + d(B, C) = d(A, C).
We must first find d(A4, B) + d(B, C) and d(A, C).

d(a, B)

d(8, )

d(A, ©)

Thus, we see that d(A, B) + d(B, C) d(A, C), so the points collinear.

In this exercise we use the Distance Formula.

24
Find a point on thé y-axis fhat is equidistant from the points (8, —8) and (3, 3).
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In this exercise we use the Distance Formula and the Midpoint Formula.

If M(7, 4) is the midpoint of the line segment AB and if A has coordinates (3, 2), find the coordinates of B.

B:(.\L,‘D X = ¥~coord 4B
R A
o=
o3 Mis 4% midpoint of 2B,
P
('H—x ":._J ) - (4—,'-[)
Soﬂu -ﬁe’l X 4 7 -
QCEIRICIE
®43= 1 24y Ko
A= [N |.1 =

B: ( “/L')

13
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27

Suppose that each point in the coordinate plane is shifted 4 units to the right and 5 units upward.

(a) The point (2, 9) is shifted to what new point? —> (x+4, y _._s')
6—\—‘1, °\k$\ = ((H) (*,7\ . ( ’ C«-;-‘-,--._--?ﬁ)
(b) The point (a, b) is shifted to what new point? T YL wene < i d
é»"",b"f) - —\'p \J sL;gid f,5‘|+ q
(c) What point is shifted to (4, 7)? = (x+Y, \j{—T) uwp 5, o e W Fonction
=7 Ktz {=p oS F wonid be
(d) Triangle ABC in the Mgt 3s been shifted to B'C'. 3(13: ¥(ﬁ'“D +5
Vi 2
' sec * w
O
$(x-N+S = () *F
. {
X ™) .
A(-6, =2)
'..(w
Az (-LeY,-245) = T2 Pu-v

V\)?"*Q' %V'\‘U

Find the coordinates of
’
G- («~l+q,3+s)=
4
¢ - (¥, H—ﬂ-—

Suppose that the y-axis acts as a mirror that reflects each point to the right of it into a point to the left of it.

(a) The point (5, 5) is reflected to what point? P.c-Ce c“.’-:‘- aéﬂn"' v —anS
X > =X

(b) The point (a, b) is reflected to what point?

(d) Triangle ABC in the figure is reflected to triangle A'B'C'.

Vi
A’ A(6, 7)
<\ | [
0 x
' | c(5, -1)

Find the coordinates of the points A, B', and C".
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